A
-,

ADLINK

Leading EDGE COMPUTING

MVP-5100/6100

,,,
-----
/ N :

4 p——

A

SERVICE MANUAL ABOUT
GETTING STARTED

IR = @ S - -

Rev.: 1.1



Table of Contents

Getting Started

MVP-5100 MVP-5100-MXM

» Install HDD/SSD » Install HDD/SSD

» Install CFast Card » Install M.2 module

» Install M.2 module » Install Mini PCle module
» Install Mini PCle module »  Wall mount

»  Wall mount

MVP-6120/6140

Install HDD/SSD

Install HDD/SSD (Option)

Install CFast Card

Install M.2 module

Install Mini PCle module

Wall mount

Install Fan Kit (Option)
PCle/PCl card’s max. dimension

YVVYVVVYVYVY

A ADLINK Leading EDGE COMPUTING

adlinktech.com



MVP-5100

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

1. Remove the 6 bottom cover screws by screwdriver 2. Remove the bottom cover by lifting

" peumm— ¢ 0 RN U EERI B W 1S69) v W (968) 0

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

3. Release the hand screw to take the two bracket out. 4. Use 8 of the included M3 screws to fix two 2.5"
HDD or SSD unit to the Tray from the accessory pack.

Note: 2.5" HDD or SSD maximum thickness support to 15mm

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

5. Gently seat the drive into the SATA connector on
the PCB and 4 hand screws are fix to the bracket.

sel\-dAW

I LR AR L

“isoH

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install CFast card

1.Remove the screws fixing the CFast socket cover on 2. True the CFast card with the alignment guide.
the front panel and remove the cover. 3.Gently insert the CFast card until it is firmly seated in
the socket.

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install M.2 module

1. Gently pull the drive out of the SATA connector on
the PCB after loosening the 4 hand screws.

A _ADLINK

2. Use the included M3 standoff screw to fix it on the
main board, The position depending on the size of
M.2.

o101om \\"\h\:\'l ':’

o .

M.2 size 3042 M.2 size 2280

Leading EDGE COMPUTING adlinktech.com



Install M.2 module

3. Install the M.2 module and lock the included screw.

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install Mini PCle module

3. Gently pull the drive out of the SATA connector on 4. Install the miniPCle module and lock the included
the PCB after loosening the 4 hand screws. 2 M2.5 screws.

LN
SDOG[W olav q
l%gvvmwsuo g 9 Lu

= 2
| SSGGI.LUU:?MVI“ L:PJGLC‘IIvz 55 ! ’“Nﬁ 10 \3"Dwd it

mmuu m ||||m||unu nmnmzwsn ;

e 131

IIII\IiI\II(!IIIIIlIllI\llHllI\\\\l\\

i adlinktech.com
A ADLINK Leading EDGE COMPUTING



Wall-mount

1.Remove the 6 bottom cover screws by screwdriver 2.Use the 6 M4 screws shipped with the controller to
fix the 2 wall-mount brackets, also included, to the

chassis, according to the spacing dimensions of the
screw holes and brackets, as shown.

!

A _ADLINK Leading EDGE COMPUTING adlinktech.com

‘.

e Tl T LR L E I



Wall mount

3.0nce final assembly as shown is complete, mount
the MVP-5000 on the wall via screw holes.

A
=
18€
238
238

/ T \ : e

_/-_ Ir |
o O
J Eﬁm s W ||
S A O A
' =—0=T 1 DL IT ¢ [ —— :tb'__
‘ e ‘ 52
! ]
-
B A A
HF 21

A ADLINK Leading EDGE COMPUTING adlinktech.com



MVP-6120/6140

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

1. Remove the top cover after loosening the hand 2. Remove the 4 rear base case screws by screwdriver
screw

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

3. Remove the bracket by lifting 4. Use 8 of the included M3 screws to fix two 2.5" HDD or SSD
unit to the bracket.

Yhetot; (Y

€ |

Note: 2.5" HDD or SSD maximum thickness support to 9.5mm

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

3. Gently seat the drive into the SATA connector on
the PCB.

N

A ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD (option)

1. Combined with two 2.5" HDD or SSD

Bracket X 1

Note: 2.5" HDD or SSD maximum thickness support to 15mm

SATA/Power cable(short) X 1

SATA /Power cable(long) X 1

A ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD (option)

1. Remove the top cover after loosening the hand 2. Remove the 4 side base case screws by screwdriver.
screw.

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD (option)

3. Put the HDD or SSD assembly into the system and 4. Connect the cables to the PCB in sequence.
lock the 4 side base case screws .

SATA /Power cable(short)

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install CFast card

1.Remove the screws fixing the CFast socket cover on 2. True the CFast card with the alignment guide.
the front panel and remove the cover. 3.Gently insert the CFast card until it is firmly seated in
the socket.

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install M.2 module

1. Remove the top cover after loosening the hand 2. Use the included M3 standoff screw to fix it on the
screw. main board, The position depending on the size of
M.2.

SRS S

T ————

M.2 size 2280

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install M.2 module

3. Install the M.2 module and lock the included screw.

(]
L Rl

1 e

=y
o
g
T
%
g
&
=
®
o
=
S
2
=
o
-
@©
>
=
]
I
-

LT

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install Mini PCle module

1. Remove the top cover after loosening the hand 2. Install the miniPCle module and lock the included
2 M2.5 screws.

SCrew.

LN
SOOBLUO Ulﬂvg Yglﬁ

f x-‘ 1g20v¥mmso0
) VIZOVYAXS00

<| sm LLY 9 ‘
SHLEIMNLALS! 595" eug o anposg
amwu ||| IIIIIIIIIHII*I mmuszwsa ;

Jso

g I!III||I|II£||I||lIllIl\H\lll\\\\I\\

=
<

J

wawllidJay VHU BIS

A ADLINK Leading EDGE COMPUTING adlinktech.com



Wall mount for MVP-6120 (rear side)

1. Use the 6 M4 screws shipped with the controller to fix
the 2 wall-mount brackets, also included, to the chassis,
according to the spacing dimensions of the screw holes
and brackets, as shown.

I/
-‘\.—|—

1
o(F)o o(mi)o o(mi)o ofmn)o ofFacm

[Slsrsieisieialelala]se e leLe]s]e]e]e]s
footooooooooooa0000a]

186

210

226

239

\
A

5.2

AN

A ADLINK Leading kuue Luviruiing

e
R

P A A
HHl2:1

adlinktech.com

2



Wall mount for MVP-6140 (rear side)

1. Use the 6 M4 screws shipped with the controller to
fix the 2 wall-mount brackets, also included, to the
chassis, according to the spacing dimensions of the
screw holes and brackets, as shown.

=

26
239

20
25.2

52

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Wall mount for MVP-6120/6140 (right side)

1. Use the 6 M4 screws shipped with the controller to (4= .

g

'I—b_lij
T

chassis, according to the spacing dimensions of the
screw holes and brackets, as shown.

EEINE
I'T"H_'WY I

=

=]
22
238

@E NI

Y
= 1]

fix the 2 wall-mount brackets, also included, to the ‘
T

l
1
. _[ |I
[ 1
- 7
[+)
RN
——

ﬂﬂﬂﬂﬂﬂ

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install Fan kit (option)

el

FAN KIT X 1

A_ADLINK Leading EDGE COMPUTING adlinktech.com



Install Fan kit (option)

1. Remove the top cover after loosening the hand 2. First connect the fan connector to the PCB, and then
screw. fasten the FAN ASSM SET to the chassis.

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Max. PCI/PCle card dimension

When SSD/HDD thickness =9.5mm , L:200mm
When SSD/HDD thickness =9.5mm & =15mm , L:195mm

i

Standard height: 111.28mm{Max)

MU

SSD/HDD thickness<9.5mm SSD/HDD thickness >9.5mm & <15mm

A _ADLINK Leading EDGE COMPUTING adlinktech.com



MVP-5100-MXM

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

1. Remove the 6 HEATSINK screws by screwdriver 2. Remove the HEATSINK by lifting

A ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

3. Release the FPC’ PClex16 golden finger. 4. Release the hand screw to take the two bracket out.

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install HDD/SSD

5. Use 8 of the included M3 screws to fix two 2.5" HDD 6. Gently seat the drive into the SATA connector on
or SSD unit to the bracket from the accessory pack. the PCB and 4 hand screws are fix to the bracket.

7. Replace the FPC’ PClex16 golden finger and
HEATSINK and refasten screws.

LN LT R T AT
N 0L

e L
W] JAAT 1 IROS NANS

1SOH

e B

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install M.2 module

1. Gently pull the drive out of the SATA connector on 2. Use the included M3 standoff screw to fix it on the
the PCB after loosening the 4 hand screws. main board, The position depending on the size of M.2.

Rl LY \ SV“S

1SOH

M.2 size 3042 M.2 size 2280

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install M.2 module

3. Install the M.2 module and lock the included screw.

.-«_\:‘,,

Favinive Ve

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Install Mini PCle module

1. Gently pull the drive out of the SATA connector on 2. Install the miniPCle module and lock the included
the PCB after loosening the 4 hand screws. 2 M2.5 screws.

70 Do
- ' 006200 - 010¥ Y
[ x| -oznvvmwsuug 9L0 {:
2 sunw 9£1v2:Q1 31 @ |3
i \w :
ﬂlmuu I|l I|II|NIH|I|\I mmzmwsa E

i ||I\IIIIIIIIIIillll|\\l\\l|\\\ \\\

| 60

auxuduv \mHa :

A _ADLINK Leading EDGE COMPUTING adlinktech.com



Wall mount

1. Use the 6 M4 screws shipped with the controller to fix

the 2 wall-mount brackets, also included, to the chass

according to the spacing dimensions of the screw hole

and brackets, as shown.

25.20

225

238

A ADLINK Leading EDGE COMPUTING

8 D g o o
_—

{4} A

ol NS i

T 11— — 0 -

5.20

adlinktech.com



1. Use the 6 M4 screws shipped with the controller
fix the 2 wall-mount brackets, also included, to the
chassis, according to the spacing dimensions of the
screw holes and brackets, as shown.

A _ADLINK

Wall moun

t

to o o] [o o @
- "{ﬂ:'\
—. . I
oo & 2 Ul
HL ¥
§°§§88ﬁ8 @“‘;,"
4[5
o3 o ’E;
-_;";:: |8
|8 olg § 38
i =)
i =)
3 (=) g
ST
Z 1)
i -47 |
o\ o &
151

Leading EDGE COMPUTING

25.20

adlinktech.com



ADLINK

) \ Leading EDGE COMPUTING




